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xzkeh.k lekt'kk=k 
M.A. Sociology (MASO-10/16) 

1st Year Examination 2019 
Time: 3 Hrs      Max. Marks: 80 
 
Note: This paper is of eighty (80) marks containing three 

(03) Sections A, B, and C. Attempt the questions 
contained in these Sections according to the detailed 
instructions given therein. 

uksV%  ;g iz'u i=k vLlh (80) vadksa dk gS tks rhu (3) [k.Mksa d][k]x 
esa foHkkftr gS] izR;sd [k.M esa fn, x, foLr`r funsZ'kks ds vuqlkj 
gh iz'uksa ds mÙkj nsus gSA 

SECTION A / [k.M&d 
Long Answer Type Questions / (nh?kZ mÙkjksa iz'u)  

Note: Section ‘A’ contains four (4) long answer type 
questions of Nineteen (19) marks each. Learners are 
required to answer two (2) questions only  (2×19=38) 

uksV%  [k.M ^d* esa pkj (4) nh?kZ mÙkjh; iz'u fn, x;s gS izR;sd iz'u 
ds fy, mUuhl (19) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls 
dsoy nks (2) iz'uksa ds mÙkj nsus gSA  

1) Define rural sociology. What is the significance of 
the study of rural sociology in India? 
xzkeh.k lekt'kkL=k dh ifjHkk"kk nhft,A Hkkjr esa xzkeh.k lekt'kkL=k 
ds vè;;u dk D;k egRo gS\ 

2) Define caste. Describe the function of caste in rural 
community. 
tkfr dks ifjHkkf"kr dhft,] xzkeh.k leqnk; esa tkfr ds dk;ksZ dk 
o.kZu dhft,A 

3) Analyze the concept of peasant society and discuss 
its underlying characteristics. 
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d`"kd lekt dh vo/kj.kk dk fo'ys"k.k dhft, rFkk d`"kd lekt 
dh vk/kjHkwr fo'ks"krkvksa dks le>kb;sA 

4) Why was panchayati raj system introduced in India? 
Discuss its major features. 
Hkkjr esa iapk;rh jkt O;oLFkk D;ksa ykxw dh x;h\ bldh izeq[k 
fo'ks"krkvksa dk fooj.k nhft,A 
 

SECTION B / [k.M&[k 
Short Answer Type Questions / (y?kq mÙkjh; iz'u) 

Note: Section ‘B’ contains eight (8) Short answer type 
questions of eight (8) marks each. Learners are 
required to answer four (4) questions only    (4×8=32) 

uksV%  [k.M ^[k* esa vkB (8) y?kq mÙkjh; iz'u fn, x;s gS izR;sd iz'u 
ds fy, vkB (8) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls dsoy 
pkj (4) iz'uksa ds mÙkj nsus gSA 

1) Characteristics of rural life. 
xzkeh.k thou dh fo'ks"krk,sa 

2) Importance of rural sociology in India. 
Hkkjr esa xzkeh.k lekt'kkL=k dk egRoA 

3) What is rural kinship system? 
xzkeh.k ukrsnkjh O;oLFkk D;k gS\ 

4) Major rural social problems in India. 
Hkkjr dh izeq[k xzkeh.k lkekftd leL;k,saA 

5) What do you mean by rural development? 
xzkeh.k fodkl ls vki D;k le>rs gS\ 

6) Write main characteristics of rural religion. 
xzkeh.k /eZ ds izeq[k y{k.k fyf[k,A 

7) What do you mean by sanskritization? 
laLd`frdj.k ls vki D;k le>rs gS\ 

8) Write short note on Green revolution? 
gfjr ØkfUr ij ,d fVIi.kh fyf[k,A 
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SECTION C / [k.M&x 
Objective Type Questions / oLrqfu"B iz'u 

Note: Section ‘C’ contains ten (10) Objective type questions 
of one (1) mark each. All the questions of this section 
are compulsory.                  (1×10=10) 

uksV%  [k.M ^x* esa nl (10) oLrqfu"B iz'u fn, x;s gSA izR;sd iz'u ds 
fy, ,d (1) vad fu/kZfjr gS] bl [k.M ds lHkh iz'u vfuok;Z 
gSA  

Write true/false against each statement. 
izR;sd okD; ds vkxs lR;@vlR; fyf[k, 

1) Rural sociology has a scientific nature.   (True/False) 
xzkeh.k lekt'kkL=k dh izd`fr oSKkfud gSaA        (lR;@vlR;) 

2) Uttarakhand has three–tier Panchayati Raj system.
             (True/False) 
mÙkjk[k.M esa fr`Lrjh; iapk;rh jkt O;oLFkk gSA     (lR;@vlR;) 

3) In India 80 percent people depend on agriculture 
             (True/False) 
Hkkjr esa 80 izfr'kr yksx d`f"k ij gh fuHkZj djrs gSA (lR;@vlR;) 

4) Corrupt politics is the encouraging factor of 
Casteism.            (True/False) 
Hkz"V jktuhfr tkfrokn dks c<+kok nsus okyk dkjd gSA  
           (lR;@vlR;) 

5) Class system is based on social stratification in 
Indian village.            
(True/False) 
Hkkjrh; xzkeks esa lkekftd Lrzhdj.k dk vk/kj oxZ O;oLFkk gSA 
           (lR;@vlR;) 

 
Choose the correct alternative. 
lgh fodYi pqfu,A  

6) Class is determined by which of the following. 
(a) Caste   (b) Social status 
(c) Income   (d) Marriage  
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oxZ dk fu/kZj.k fuEu esa ls fdlls gksrk gS\ 
(v) tkfr   (c) lkekftd izfLFkfr 
(l) vk;   (n) fookg 

7) Religion is the name of belief in spiritual beings and 
demons.  Who quote this? 
(a) E.A. Hoebal  (b) Gillin & Gillin 
(c) E.B. Tylor   (d) Ogburn & Nimkoff 
^^/eZ vkè;kfRed izf.k;ksa ,oa fi'kkpksa es fo'okl dk uke gS** ;g 
dFku fdlus dgk\ 
(v) bZ0 ,0 gkscy  (c) fxfyu ,oa fxfyu 
(l) bZ0 oh0 Vk;yj  (n) vkxouZ ,oa fuedkSÝQ 

8) Who was the main thinker of little community? 
(a) Robert Redfield  (b) M.N. Srinivas 
(c) Nelson   (d) Senderson  
y?kq leqnk; ds izeq[k fopkjd dkSu Fks\ 
(v) jkcZV jSMÝQhYM  (c) ,e0 ,u0 Jhfuokl 
(l) usYlu   (n) lS.Mjlu 

9) “Society is a web of social relationship.” whose 
statement is this? 
(a) T. Parson   (b) Max Weber 
(c) Maclver   (d) Majumdar & Madan 
^^lekt lkekftd lEcU/ksa dk tky gS** ;g fdldk dFku gS\ 
(v) Vh0 ikjlu   (c) eSDl oscj 
(l) eSdkboj   (n) etwenkj ,oa enku 

10) Who had given the slogan “Go back to villages”? 
(a) Vinoba Bhave  (b) Jawahar lal Nehru 
(c) Mahatma Gandhi  (d)Jai Prakash Narayan 
^^xk¡o okil pyks**  dk ukjk fdlus fn;k gSa\ 
(v) fouksck Hkkos   (c) tokgj ykyk usg: 
(l) egkRek xk¡/h  (n) t; izdk'k ukjk;.k 
 

  ***** 


